
Group n Log–linear regression 95 % confidence 95 % confidence r2 p value RRMSEcv
interval intercept interval slope

overall 846 MTCI= 2.18+ 0.79 log(CN[%]) [2.15, 2.20] [0.71, 0.87] 0.32 < 0.000 17.0
DBF 80 MTCI= 2.07+ 0.95 log(CN[%]) [1.78, 2.36] [0.59, 1.32] 0.24 < 0.000 12.7
EBF 186 MTCI= 2.39+ 0.29 log(CN[%]) [2.31, 2.48] [0.04, 0.54] 0.02 0.021 12.4
ENF 564 MTCI= 2.13 + 0.61 log(CN[%]) [2.10, 2.17] [0.46, 0.76] 0.10 < 0.000 19.2
mixed 16 MTCI= 2.05+ 1.35 log(CN[%]) [1.63, 2.46] [0.53, 2.17] 0.44 0.003 12.4


